H3 Srsorzreno
MSE, MATLABO.Z Hl$-& 238 $A54(14%)

[A=EA B¢ o8 ]

B AGEA ©ete] AzAS ol v (F) AUt
U owjzd A9 A=A 13639 9 Aste] Ha 54 o]l

of Ag 4 9lal o] WIHHHE = AdFHTh



Chapter 02 A&EA AY

2.1

Command Window
=> 4=[4,1,-6:6,2,3;-2,3.6];
»» c=[32:10:-16];
== M

ans

oo

.0000
.0000
-3.0000

Mo

2.2

Command Window
> A=[4,1,-6;5,2,3;-2,3.56];
> o=[32:10:-18];
> oinvia)+c

ans =




2.3

Command Window

¥ 4=[4,1,-6:5,2,3;-2,3.5];

> c=[32;10;-156]:

== D=det (4);

== 41=[32,1,-6:10,2,3;-15,3.5];
== Dl=det(41);

== A2=[4,32,-6:5,10,3;-2,-15,56];
== DE=det(42);

== A3=[4,1,32;58,2,10;-2,3,-158] ;
> DE=det(43);:

== w=D1/D




2.4
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Command Window
»» A=[2,-3:2,-3];
¥ oo=[15-1]:
= Al
Warnina: Matrix is singular to working precision,

ans =

—-Int
-Inft

== oinyvld)+c

Warning: Matrix is singular to working precision,

ans =

MaM
MaM

st




2.5

Command Window
=> A=[1,1,1:4,-2,1:16,-4,1];
= o=[1:19:81];
>>= w=hlfc;
> p=x(l)




2.6.

2.5452 , 6.2074 , 8.4259
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2.8

File Edit Wiew Insert Tools Desktep Window Help

NaEde bR DEL- G| 0| aD

0 10 20 30 40 50 60
X (cm)

| car_splinem | + |

1 - % = [0,6.92,20.94,27.62,43.26,53.34,56. 22,59.0, 61 . 23, 64.55] ;
2 - v = [32.84,31.66,30.01,29,58,25,.32,21.39,18.72,15.66,9. 74,07 ;
3 - “_int = 0:0.01:65;

4 - v_int = spline(x=,y,=_int);

B - plotix,y, o ,s_int,v_int);

B - wlabel( '« (o)’ );

7 - wlabel{ 'y (cn)');

8- axis([0 65 0 34]1);




2.9
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Command Window

>» m_est = [3.03, 4.17, 8.48, 10.10]:
>> T_est_5 = interplim,T,m_est, ‘spline’)

T_est 3 =

5.4024 13.1289 23,6740  13.6E6I
*» T_est_Lin = interpi(m,T,m_est)
T_est_Lin =

5.4070  13.0010  23.1920 13.6500




2.10

Command Window
»= t=0:10;
=» f=[0,2.37,3.80,4.47,4,39,4,62,4.98,4,63,4.28,3.89,3.25] ;
¥ h=0.1+trapzit,{)

3. 9055

2.11

Command Window
»» dsolve( Dy+3ey/(10+3«t =6, "w(0)=0")

[t+{3+t + 200040t + 10/3)




2.12

Command Window

> f_t=dsolvel D2y+15+0y+d0sy=4", wi0l=0", Dy(0)=0")

f_t =

expl—G+t ) /B - (d+axp(-B+t11/15 + 110

== pzplot{f_t)
»» axis((00.900.1])
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